EE = | =]~
. eSS QI3 ¥85 S SOURE

BIR: HeeTMEZE ot (AC/DC/IR/GR)

B=: CS9933BSI

® KM 5.6 5 TFT(640%480) LR BESHMINIASH, LrAAEH. F5.
® AT IR IR 45 R DL EXCEL k% fIA% SRAF G E U B

o nE U BT IR

® CRHIDDS B E S A AR, PR, RRE. A, R EMIELN.
o FIAEE T TRERTE, A& RN FEHS REK

o FARWAE AT 7y Tk iR FIT

o AL RATEIARAE, SCRFEM R MG R AE .

o CSURFER PRI, TR R KA .

o  HAAXURLEANIK, SFEH 50 Hz. 60 Hz.

o  \VEAGIERE R ORI E RO, RN R R .
o ERMBRAERHIIR, ARG SRR

®  RBESCRUEHRAE S, &R E R

o IEHME/NI PR 0. 1A, BB E /NP 0.001 nA.

o RN EAIHL, AISCRFESIETIRE .
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® FRfic PLC #2100, RS232 #2117, HERC LAN #2110, RS485 #2110, USB #&11.

me

MR

MHBERE
RAHINE
RABERR
iREERLIRIZE
IREEIT MARIZE
BB AL
T S
At
I[N
EFHEtE)
SRRt A

B Ao A

FEIMTNIR &

BHEBERE
iR L PRIRE
IRFEIR FRRIRE
EE AL

FEESR

B

TSR]

BIFT B =ik SRAE

CS9933BSI

AC/DC/IR/GR

RRME. BERiiE. f5EE. EithEE  (E-)

0.050kV ~5.000kV f##frE: 1V volts/Step

100VA

20mA

0.1uA ~20.00mA

0.1uA - 19.99 mA

200uA. 2mA. 20mA (BEE7RY)

50Hz, 60Hz

0.0s, 0.3s~999.9s O=iE&zM

0.0s ~999.9s 0=(EIFRRTIEIR

0.0s, 0.35~999.9s O0=REJ% EFHhAdiAxR

0.0s, 0.3s~999.9s O=FEEFBERYEIR

(0.0-999.9)# 0=Disable

(0.050-5.000)kV

BE:  +(1%+0.2%#HEF2)

(0.001-20.00)mA

200uA #59 0.1uA, 2mA £ 0.001TmA, 20mA 73 0.0TmA
BE: £(1%+0.5% (8T

(0.0-999.9)F> fRITEE: 0.1F), BEE: +1%+0.27

5 0-9 0=x

0.050kV ~ 6.000kV  fE#TREE: 1V

SeE: 0.001uA - 10.00 mA

SBE: 0.001 mA - 9.99 mA

2uA. 20uA. 200uA. 2mA. 10mA (BEzhtd)

(0.050-6.000)kV  fEtFEE: 1V
BE: t(1%+0.2%HEFE)

2uUA #4579 0.001uA, 20uA 75 0.01uA, 200uA #4 0.1uA, 2mA #4793 0.001TmA, 10mA 3 0.0TmA

FEE: +(1%+0.5%H(E1F)

0.35~999.9s O=Ea & EFHATIEIR

iAo

h [C Ty
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i)
A E]
E1[11EE)]
THASER
FRNiR E

MHBERE
FEBE ERRIRTE
FEPR TRRIZE
A )
[EIPRATIE)
EFHELE)

HIHFEIIRE

FAME ERRIRTE

S2hineS

EERER

A E]
[E]BRRTE]

BIFT B =ik SRAE

0.35~999.9s 0=EB/E FRERIIEIR
0.35~999.9s 0=3Z&4Ehiz
0.0s ~999.9s O=[alpRAa)R

(0.0-999.9) %> fEMFE: 017, BEE: +1%+0.27#

5 0-9 0=x

0.050kV ~ 6.000kV  fEHTE: 1V

1MQ-50000MQ

0-49999MQ

0.0s, 0.3s~999.9s O=iE&zM

0.0s ~999.9s O=(EIFBRTEIR

0.35~999.9s 0=E8[% EFHATIEIXK

0.100kV~0.300kV:
0.301kV~0.500kV:

0.501kV~1.500kV:

1.501kV~6.000kV:

1.000MQ~999.9MQ + (5%+2 M),
1.000MQ~999.9MQ + (5%+2 M),
1.000GQ~5.00GQ + (10%+2 ),

1.000MQ~999.9MQ + (5%+2 M),
1.000GQ~9.999GQ + (10%+2 M),
10.00GQ~50.00GQ + (15%+2 7)),
5.000MQ~999.9MQ + (5%+2 ),
1.000GQ~50.00GQ + (10%+2 ),

AT :

TMQ ~9.999MQ5 0.001MQ, 10MQ ~99.99MQJ5 0.01TMQ, 100MQ ~999.9MQJ5 0.1MQ
1000MQ ~9999MQ3 TMQ, 10000MQ ~ 50000MQ5 10MQ

(0.0-999.9)F

BT 0170, B +1%+0.27)

3.00A ~42.00A

SBEl: (10.0~600.00mQ fEHTE: 0.1 mQ
Rset=(42A/Iset) x 150.0mQ

(3.00 ~42.00)A
FBE:  t (1%iEE+0.2A)

(0.0 ~600)MOfEITE: 0.1 mQ
BE: +(1%+2mQ)

0.0s, 0.35~999.9s O=1ELMS

0.0s ~ 999.9s O=|alPRATEIR

A
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